(CSEEM)

1. 1 R AR A%

LNG| 110,680 F/t X 0.9500 + 1O RFGEIERA
LPG| 110320 A/t | x 00550 = | FHEEHEE 111210 Bt D |

2. [RFMEi % B8R (T[RRI — EETHRAHEE TEHL. 100ARETYIET)

Y BHEAS EHE T[RRI
| 111210 @4 | — 83250 At = | 27960 A/ |
RRHES EENEE 27,900 F/t
100 K& YIET
SEEMTHMARBOEE
REHNTHEMORES LUBHARZEDEEIZDOLNT
EHHEE e EE 3 B A PEE R & Bl EEEE (Fid)
[ 27900 H/t | x 0081 {/m® +100M/tx11 = | 24.85 1/m’ |
4B ENE B (FHA) DEH (FR/NFEHRIGEHR HEXRBOIGE)
EENEN T HE HEEN = B 8 FRHE B A = Bl (Fiad)
216.38 {/m® + 2485 F/m° | = | 24123 {/m* |




